nature re Se arCh https://doi.org/10.1038/s41596-020-00457-2
Supplementary information

Mapping mechanical properties of biological
materials via an add-on Brillouin module to
confocal microscopes

In the format provided by the
authors and unedited


http://crossmark.crossref.org/dialog/?doi=10.1038/s41596-020-00457-2&domain=pdf
http://crossmark.crossref.org/dialog/?doi=10.1038/s41596-020-00457-2&domain=pdf
http://crossmark.crossref.org/dialog/?doi=10.1038/s41596-020-00457-2&domain=pdf
http://crossmark.crossref.org/dialog/?doi=10.1038/s41596-020-00457-2&domain=pdf
https://doi.org/10.1038/s41596-020-00457-2

Mapping mechanical properties of biological materials via an add-on Brillouin module to
confocal microscopes

Jitao Zhang and Giuliano Scarcelli
Fischell Department of Bioengineering, University of Maryland, College Park, MD, 20742, USA

Correspondence can be addressed to: Jitao Zhang (jtzhang4@umd.edu) or Giuliano Scarcelli (scarc@umd.edu)



Z-stage Microscope body
EMCCD CMOS - lamps
« objectives
camera XY-stage camera stnipbalic
4

" Scanning setting
Rea! HmE Specirum +plane Save bright-field/
retrieve and curve

fitting

Y

Calibration
- FSR
- PR

-range

« step size

Save raw data for
post process

Y

Real-time Brillouin
image

fluorescence image

Supplementary Figure 1: Block diagram of the LabVIEW program developed for data acquisition.




6 ft

Brillouin spectrometer

4 ft

laser

microscope

2in v

3ft

Supplementary Figure 2: Layout of the optical table. The drawing is for demonstration purpose and not

necessarily to scale.



(a) Leveled (b) Tilted up (c) Tilted down

— .

Supplementary Figure 3: Examples of the optical pattern collected right after the VIPA2 corresponding
to the adjustment of vertical-tilt degree of freedom. (a) pattern is leveled horizontally with proper
adjustment. (b) & (c): pattern is tilted with improper adjustment. Note: the laser used for collecting these

patterns is different from the one used in the protocol.



1.44 in

@ 1.035"-40 internal
thread, 0.6 in deep

770.22in
1.30in |

1.53 in

Supplementary Data 2: Layout of customized mount for Brillouin filter cube. This is adapted from OEM

Microscopy Filter Cubes (Thorlabs, cat. no. MDFM-MF2). Material: aluminum. Unit: inch.



—60 ! 152. 40 \l
40 152. 40 |
Q THRU Q \ COUNTER
R | HOLE FOR 5. V0 cap
2 o~ 32 SCREW, 4 SCREW. 4
o) 203©)
| 325
]
38.1(1.5”)
(A) Bottom plate
—60—}——152. 40—
o]

Supplementary Data 3: Layout of customized mounting base for laser head. The overall height of the

base stacks should be adjusted based on the height of the microscope port. Material: aluminum. Unit: mm.

L 1es |

@' - % COUNTER
| |, THREADED \ BORE FOR
HOLE FOR 8-32 CAP

M3 SCREW, 4 SCREW, 4
PLACES PLACES
& @ —& THRU
| |
325
(C) Top plate

60— 152. 40 |
L 40 | 152. 40 ]

SCREW. 4
PLACES

= . @
] A
© @

THREADED
HOLE FOR 8-
3283CREW. 4
PLACES

! 325

(B) Intermediate plate




Assembly
- includes

base component
front component
circle component
spacer

Supplementary Data 4: Mounting stand for EMCCD camera. Part A: overview.



0.64

< A
- 2.44 O S
S
C D) S
o
— N
C ) L o
C'BORED - jr.
= for 1/4 a0
S orl/ © |
%).59$ 0.25
||
= ©0.30
o (DQ_A{L
C ) O
o AN
A N -
. L
C D) - O
= Bos_? _Co_m%onenf (aluminum)
. ' -units in inches
. 0.28 fgrB]C/)fED -sliding holes Tin apart, made for 1/4
20 cap screws to be completely
screwed but hidden
8.27

-4 holes made for 1/4 20 cap screws
to be screwed but hidden in
opposite direction to attach to front
plece

Supplementary Data 4: Mounting stand for EMCCD camera. Part B: base component.


jitao
Pencil


Circle Component (aluminum)

-sketch units in inches

-circle 2.36in radius, holes along vertical
axis have 0.30in diameter and 1.831in
from origin for m5 cap screws to line up
with arcs from rectangular component
-holes along horizontal axis have same
inner circle dimensions as vertical circles
but allow screws to be hidden solely for
extra support, 0.42in diameter

-1.831in diameter hole through center of
piece for light to enter camera lense

1.83

C'Bored for M5
cap screw

Supplementary Data 4: Mounting stand for EMCCD camera. Part C: circle component.

0.50

D 4.72




Front component (aluminum)

-units in inches

-holes in bottom threaded Tin deep for
1/4 20 cap screws,

-circle arcs allow for m5 cap screws to be
hidden within the piece and rotate +/- 45
degrees

-circle arcs located at center of
rectangle

-centers of screws of interest located
1.831in above and below center point
-1.831in diameter hole through center of
piece for light to enter camera lens

C'Bored for M5
cap screw

Supplementary Data 4: Mounting stand for EMCCD camera. Part D: front component.

/.09

G0


jitao
Pencil


~—1.92

128 | 128 128 44
[CEECIIECEEC:

® .35

Spacers
-2 1/4in. thick spacers with
% 0.35in diameter through holes
1] for use in raising height of front
component
-2 1/2in. thick spacers with
same geometry

25— .50
or 0.5in

Supplementary Data 4: Mounting stand for EMCCD camera. Part E: spacers.



	Mapping mechanical properties of biological materials via an add-on Brillouin module to confocal microscopes
	SpringerNature_NatProtocol_457_ESM.pdf
	protocol-Brillouin-SI plus data
	supplementary data2-mount for Brillouin filter cube
	supplementary data3-mounting base for laser head
	Supplementary Data file 4-mounting stand for EMCCD camera
	assem2
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	CSsketchBase
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	CSsketchCircle
	Sheet1
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10


	CSsketchFront
	Sheet1
	Drawing View5
	Drawing View6
	Drawing View8
	Drawing View13


	CSsketchSpacers
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4





